AAT Work with different angles

Sketch the following angles





1. 			2. 			3. 			4. 





5. Bearing of 		6. Bearing of 		7. Bearing of 		8. Bearing of 

Use the law of sines to solve the following word problems.
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‘The course for a boat race starts at point A in Figure 8.9 and proceeds in the direction
S52° W to point B, then in the dircction S 40° E to point C. and finally back to A.
Point C lies § kilometers dircctly south of point A. Approximate the total distance of
the race cours.
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FLIGHT PATH A plane flies 500 kilometers with a
bearing of 316° from Naples to Elgin (see figure). The
plane then flies 720 kilometers from Elgin to Canton
(Canton is due west of Naples). Find the bearing of the
flight from Elgin to Canton
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DISTANCE A boat is sailing due east parallel to the
shoreline at a speed of 10 miles per hour. At a given
time, the bearing to the lighthouse is S 70° E, and
15 minutes later the bearing is S 63° E (see figure). The
lighthouse is located at the shoreline. What is the
distance from the boat to the shoreline?
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